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B = {x: x is an even integer, x > 0}
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A = {x: x is a letter in the English alphabet, x is a vowel}
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Solved Problem 1.1

{(a) The set A above can also be written as
A = {x: x is a letter in the English alphabet, x is a vowel }
Observe thatbg A,ee A,andp ¢ A.
(b) We could not list all the elements of the above set B although
frequently we specify the set by writing

B={2,4,6,...}

-9 _




where we assume that everyone knows what we mean. Observe that 8 €
Bbut—-7e¢ B,

(c) Let E={x: x2—3x+2=0).In other words, E consists of those
numbers which are solutions of the equation x2 — 3x + 2 = 0, sometimes
called the solution set of the given equation. Since the solutions of the
equation are 1 and 2, we could also write E= (1, 2].

(d) Let E={x:x*-3x+2=0},F=(2,1}and G={1,2,2, 1, 2).
Then E = F= G, Observe that a set does not depend on the way in which
its elements are displayed. A set remains the same if its elements are re-
peated or rearranged.

i Yoo els Obs Ll olis 5w L';.:i.oi 13 s

% S 3 gl sde 5 i 3 Sred L Glas 05K,

2] I WS e tSa) e B 1976 pls U3

ot Sl e g colS 3] Lo i Wauolie 3 il Gial Wl (s

T obie par o Bolsd dadll Ciaas Wil 2B Lk 3 L L ee bl
iy 8l Ty 3y Lo dpusling 8 hamy Sy, 4] By

- 10 —




where we assume that everyone knows what we mean. Observe that 8 €
Bbut-7¢ B.

(¢) Let E= {x: x2—3x+ 2 =0]. In other words, E consists of those
numbers which are solutions of the equation x2 — 3x + 2 = 0, sometimes
called the solution set of the given equation. Since the solutions of the
equation are 1 and 2, we could also write £= {1, 2}.

(d) LetE={x:x>-3x+2=0},F=(2,1}and G={1,2,2, 1, 2).
Then E = F = G. Observe that a set does not depend on the way in which
its elements are displayed. A set remains the same if its elements are re-
peated or rearranged.
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S = {x: x is a positive integer, x* = 3}
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Solved Problem 1.2 The set E = {2, 4, 6} is a subset of the set £ = {6, 2,
4}, since each number 2, 4, and 6 belonging to E also belongs to F. In
fact, £ = F. In a similar manner, it can be shown that every set is a sub-
set of itself.
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Solved Problem 1.3 Show that the following argument (adapted from a
book on logic by Lewis Carroll, the author of Alice in Wonderland) is
valid:
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$,: My saucepans are the only things I have that are made of tin.
$,: I find all your presents very useful.
$,: None of my saucepans is of the slightest use.

S:  Your presents to me are not made of tin.
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Solved Problem 1.4 Let A= (1,2, 3, 4),B={3,4,5,6,7},and C= (2,
3.5, 7} .Find (@) AU B, BYAN B, (c) AU Ciand (d)ANC.
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